

Apr-22-21 12:33PM Peabody Energy (BTU) Expected to Beat Earnings Estimates: Should You Buy? Zacks Apr-21-21 09:35AM Peabody to Announce Results for the Quarter Ended March 31, 2021 PR Newswire NOTICE For Investors In NYSE: BTU Shareholder Notice: Update in Lawsuit against Peabody Energy Corporation announced by Shareholders Foundation Newsfile Implied Volatility Surging for Peabody (BTU) Stock Options Zacks Why Plug Power, Peabody Energy, and Clean Energy Stocks All Dropped Today Motley Fool Wilpinjong Coal To Announce Results For The Year Ended December 31, 2020 PR Newswire Mar-22-21 03:49PM U.S. drillers, miners would be out billions if paid climate, health costs - study Reuters Mar-18-21 05:00PM Peabody's Board Of Directors Announces CEO Transition Plan PR Newswire The Law Offices of Frank R. Cruz Announces Investigation of Peabody Energy Corporation (BTU) on Behalf of Investors Business Wire

Peabody Energy Corporation engages in coal mining business in the United States, Japan, Taiwan, Australia, China, India, Vietnam, South Korea, and internationally. The company operates through Seaborne Thermal Mining, Seaborne Metallurgical Mining, Powder River Basin Mining, and Other U.S.

Thermal Mining segments. It is involved in mining, preparation, and sale of thermal coal primarily to electric utilities; mining bituminous and sub-bituminous coal deposits; and mining metallurgical coal, such as hard coking coal, semi-hard coking coal, semi-soft coking coal, and pulverized coal injection coal. The company supplies coal primarily to electricity generators, industrial facilities, and steel manufacturers. As of December 31, 2020, it owned interests in 17 coal mining operations located in the United States and Australia; and had approximately 3.0 billion tons of proven and probable coal reserves and approximately 450,000 acres of surface property through ownership and lease agreements. The company also engages in direct and brokered trading of coal and freight-related contracts, as well as provides transportation-related services, which involve financial derivative contracts and physical contracts. Peabody Energy Corporation was founded in 1883 and is headquartered in St. Louis, Missouri.

Insider Trading	Relationship	Dat e	Transactio n	Cos t	#Share s	Value (\$)	#Share s Total	SEC Form 4
Spurbeck Mark	EVP and CFO	Apr 05	Sale	3.06	132	404	120,027	Apr 05 03:18 PM
Richard Paul V.	SVP & Chief HR Officer	Feb 22	Sale	3.90	514	2,005	51,796	Feb 24 05:27 PM
Williamso n Kemal	President - US Operations	Feb 22	Sale	3.90	1,381	5,386	251,817	Feb 24 05:30 PM
Hathhorn Marc E.	President-Australia Operations	Feb 22	Sale	3.90	2,427	9,465	110,272	Feb 24 05:29 PM
Kellow Glenn L	PRESIDENT AND CEO	Feb 22	Sale	4.29	10,246	43,95 5	938,554	Feb 24 05:33 PM



Short	0.22	Earning	-
Float	%	s	
Analyst Recom	-	Target Price	-
Avg	128.0	52W	2.05 -
Volume	4K	Range	4.83

Apr-20-21 09:00AM San Juan Basin Royalty Trust Declares Cash Distribution for April 2021 Business Wire Mar-19-21 09:00AM San Juan Basin Royalty Trust Declares Cash Distribution for March 2021 Business Wire Feb-24-21 09:00AM San Juan Basin Royalty Trust Announces Hilcorps 2021 Capital Plan Business Wire Feb-16-21 09:00AM San Juan Basin Royalty Trust Declares Cash Distribution for February 2021 Business Wire Jan-19-21 09:00AM San Juan Basin Royalty Trust Declares Cash Distribution for January 2021 Business Wire Dec-18-20 09:00AM San Juan Basin Royalty Trust Declares Cash Distribution for December 2020 Business Wire Nov-23-20 02:06AM What Kind Of Shareholders Own San Juan Basin Royalty Trust (NYSE:SJT)? Simply Wall Nov-19-20 09:00AM San Juan Basin Royalty Trust Declares Cash Distribution for November 2020 Business Oct-20-20 09:00AM San Juan Basin Royalty Trust Declares Cash Distribution for October 2020 Business Wire Unpleasant Surprises Could Be In Store For San Juan Basin Royalty Trust's (NYSE:SJT) Shares Simply Wall St.

San Juan Basin Royalty Trust operates as an express trust in Texas. The company has a 75% net overriding royalty interest carved out of Southland's oil and natural gas interests (the Subject Interests) in properties located in the San Juan Basin in northwestern New Mexico. The Subject Interests consist of working interests, royalty interests, overriding royalty interests, and other contractual rights in 119,000 net producing acres in San Juan, Rio Arriba, and Sandoval Counties of northwestern New Mexico, as well as 825.9 net wells. BBVA USA serves as the trustee of the San Juan Basin Royalty Trust. The company was founded in 1980 and is based in Houston, Texas.



Dividend	16.6 0%	Sales Q/Q	- 60.70 %
Insider	25.0	Inst	3.00
Own	0%	Own	%
Insider	0.00	Inst	46.25
Trans	%	Trans	%
Short	0.21	Earning	-
Float	%	s	
Analyst Recom	-	Target Price	-
Avg	96.7	52W	2.25 -
Volume	9K	Range	5.70

Apr-05-21 04:42PM MV Oil Trust Announces Trust First Quarter Distribution Business Wire
Mar-24-21 03:25PM 10 Best Oil and Energy Stocks To Buy Now Insider Monkey
Mar-16-21 04:47PM MV Oil Trust Files 2020 Annual Report on Form 10-K Business Wire
Jan-05-21 04:05PM MV Oil Trust Announces Trust Fourth Quarter Distribution Business Wire
Dec-29-20 03:24PM 5 Undervalued Oil Companies to Consider for 2021 GuruFocus.com
Dec-02-20 02:50PM 5 Stocks Trading Below Peter Lynch Value GuruFocus.com
Nov-30-20 03:01AM Can Mixed Fundamentals Have A Negative Impact on MV Oil Trust (NYSE:MVO)
Current Share Price Momentum? Simply Wall St.
Oct-05-20 04:05PM MV Oil Trust Announces Trust Third Quarter Distribution Business Wire
Sep-01-20 01:20PM MV Oil Trust's (NYSE:MVO) Subdued P/E Might Signal An Opportunity Simply Wall St.
Jul-06-20 04:15PM MV Oil Trust Announces There Will Be No Trust Second Quarter Distribution Business

MV Oil Trust acquires and holds net profits interests in the oil and natural gas properties of MV Partners, LLC. Its properties include approximately 800 producing oil and gas wells located in the Mid-Continent region in the states of Kansas and Colorado. The company was incorporated in 2006 and is based in Houston, Texas.



P/S	6.41	EPS next 5Y	7.10 %
P/B	1.95	EPS Q/Q	- 119.4 0%
Dividend	62.00 %	Sales Q/Q	-
Insider Own	0.60 %	Inst Own	95.00 %
Insider Trans	-	Inst Trans	- 3.76 %
Short Float	2.66 %	Earning s	Mar 12/b
Analyst Recom	2.30	Target Price	-
Avg Volume	4.29 M	52W Range	3.19 - 6.55

Apr-14-21 11:22PM	Apartment Income REIT Corp. Announces Closing of \$1.4 Billion Credit Facility, First Quarter 2021 Leasing Results, and Increased 2021 Guidance Business Wire
Apr-08-21 04:15PM	Apartment Income REIT Corp. Announces Dates for First Quarter 2021 Earnings Release and Conference Call Business Wire
Apr-02-21 01:26AM	Why Apartment Income REIT Corp. (NYSE:AIRC) Looks Like A Quality Company Simply Wall St.
Mar-30-21 12:50PM	MERGER ALERT - MIK, and AIV: Levi & Korsinsky, LLP Reminds Investors of Investigations Concerning the Mergers of these Companies ACCESSWIRE
Mar-15-21 09:14AM	Aimco (AIV) Posts Q4 Loss, Stock Gains as Revenues Increases Zacks
Mar-12-21 06:15AM	Aimco Reports Year End 2020 Results Business Wire
Mar-02-21 09:01AM	Fisery to Present at Evercore ISIs 2021 Payments and FinTech Innovators Forum Business Wire
Feb-09-21 04:40PM	SHAREHOLDER ALERT: Levi & Korsinsky, LLP Reminds Shareholders of an Investigation Concerning Possible Breaches of Fiduciary Duty by Certain Officers and Directors of Apartment Investment and Management Company - AIV Newsfile
Jan-15-21 09:12PM	Apartment Investment and Management Company Announces 2020 Dividend Income Tax Allocation Business Wire
Jan-09-21 01:00PM	Income Investors Have a New REIT to Consider Motley Fool

Aimco is a Real Estate Investment Trust focused on property development, redevelopment, and various other value-creating investment strategies, targeting the U.S. multifamily market. Aimco is traded on the New York Stock Exchange as AIV. For more information about Aimco, please visit our website www.aimco.com.

Insider Trading	Relationship	Date	Transaction	Cost	#Shares	Value (\$)	#Shares Total	SEC Form 4
Miller Robert A.	Director	Mar 31	Buy	6.16	10,000	61,591	70,234	Apr 01 04:10 PM
Allen Quincy	Director	Mar 30	Sale	6.17	12,200	75,213	38,034	Mar 31 12:49 PM
Miller Robert A.	Director	Mar 26	Buy	5.60	10,000	56,000	60,234	Mar 30 03:23 PM
CONSIDINE TERRY	Director	Mar 24	Buy	5.82	100,000	582,160	600,000	Mar 24 09:02 PM



Apr-02-21 08:44AM	Highland Global Allocation Fund Declares Monthly Distributions of \$0.071 Per Share GlobeNewswire
Jan-12-21 07:02PM	Highland Global Allocation Fund Declares Monthly Distributions of \$0.071 Per Share PR Newswire
May-14-20 02:12PM	Highland Global Allocation Fund Declares Monthly Distributions of \$0.084, Continues 8.5% Level Distribution Policy for 2020 PR Newswire
Mar-04-20 09:18AM	Highland Global Allocation Fund's Board Extends Repurchase Program PR Newswire
Jan-08-20 06:26PM	Highland Global Allocation Fund Declares Monthly Distributions of \$0.084, Continues 8.5% Level Distribution Policy for 2020 PR Newswire
Aug-20-19 08:33AM	Highland Global Allocation Fund's Board Approves up to \$20 Million in Additional Share Repurchases, Extends Repurchase Program PR Newswire

The Global Allocation Fund, managed by James Dondero, invests primarily in U.S. and foreign equity and debt securities that the portfolio manager considers to be undervalued by the market but have solid growth prospects. Undervalued securities are those securities that are undervalued relative to the market, their peers, their historical valuation or their growth rate.

Insider Trading	Relationsl	hip Date	Transactio	n Cost #	Shares	Value (\$)	#Shares Total	SEC Form 4
Froehlich Robert J	Director	Oct 13	Buy	6.05	1,000	6,050	2,616	Oct 16 04:01 PM



Apr-01-21 04:01PM BlackRock Capital Investment Corporation to Report First Quarter 2021 Earnings on April 29, 2021 Business Wire

Mar-04-21 02:30PM Blackrock Kelso Capital (BKCC) Q4 2020 Earnings Call Transcript Motley Fool Mar-04-21 07:45AM BlackRock Capital Investment Corp. to Host Earnings Call ACCESSWIRE

Mar-03-21 04:48PM BlackRock Capital Inv: Q4 Earnings Insights Benzinga BlackRock Capital Investment Corporation Reports Financial Results for the Quarter Mar-03-21 04:02PM Ended December 31, 2020, Declares Quarterly Cash Distribution of \$0.10 per Share Business Wire

Mar-02-21 10:07AM A Preview Of BlackRock Capital Inv's Earnings Benzinga

ackRock Capital Investment Corporation Provides Preliminary Estimates of Financial sults for the Fourth Quarter Ended December 31, 2020, Schedules Earnings
lease and Conference Call for the Fourth Quarter Results Business Wire
ackrock Kelso Capital (BKCC) Q3 2020 Earnings Call Transcript Motley Fool
ackRock Capital Investment Corporation Reports Financial Results for the Quarter
ded September 30, 2020, Declares Quarterly Distribution of \$0.10 per
are Business Wire
ackRock Capital Investment Corporation Announces Appointments of Nik Singhal as esident and Abby Miller as CFO and Treasurer Business Wire

BlackRock Capital Investment Corporation, formerly known as BlackRock Kelso Capital Corporation, is a Business Development Company specializing in investments in middle market companies. The fund invests in all industries. It prefers to invest between \$10 million and \$50 million and can invest more or less in companies with EBITDA or operating cash flow between \$10 million and \$50 million. The fund invests in the form of senior and junior secured, unsecured, and subordinated debt securities and loans including cash flow, asset backed, and junior lien facilities and equity securities. It's equity investments can be structured in the form of warrants, preferred stock, common equity co-investments, and direct investments in common stock. The fund's debt investments are principally structured to provide for current cash interest and to a lesser extent non-cash interest, particularly with subordinated debt investments, through a pay-in-kind (PIK) feature. It can also make non-control investments.

Insider Trading	Relationship	Date	Transaction	Cost	#Shares	Value (\$)	#Shares Total	SEC Form 4
Usifer Maureen K	Director	Dec 11	Sale	2.76	13,753	37,958	38,716	Dec 14 05:46 PM
Usifer Maureen K	Director	Dec 10	Sale	2.75	15,000	41,250	52,469	Dec 11 07:10 PM
Singhal Nik	President	Dec 09	Buy	2.80	10,000	28,000	73,097	Dec 10 04:09 PM
Usifer Maureen K	Director	Dec 08	Sale	2.90	6,831	19,810	67,469	Dec 11 07:10 PM
Keenan James	Interim CEO	Nov 10	Buy	2.66	100,000	266,160	476,275	Nov 12 08:23 AM



Apr-22-21 09:00AM Micro Focus Partners with Citadel to Deliver SaaS-Based Content	Management
Solution PR Newswire	
Mar-23-21 08:00AM Micro Focus Introduces OPTIC, Transforming IT at Lower Risk and	Cost PR Newswire
Mar-23-21 08:00AM Award RR Newswiss	n Innovation
Award PR Newswire	
Mar-22-21 11:04PM What Kind Of Investors Own Most Of Micro Focus International pl	С
(LON:MCRO)? Simply Wall St.	
Mar-22-21 08:00AM Micro Focus Announces Voltage SecureData Integration with Sno	wflake to Provide
Secure Analytics with Data Privacy and Protection PR Newswire	
Mar 08 31 03.44AM British IT firm Micro Focus to appeal jury ruling on \$172.5 mln do	amages in patent
Mar-08-21 02:44AM claims Reuters	
Mar-03-21 05:19PM Here's Why Micro Focus Stock Jumped Today Motley Fool	
Mar-03-21 04:30AM UPDATE 1-UK's Micro Focus to collaborate with AWS; shares surg	e Reuters
Mar-02-21 08:00AM High Toch Low Prama to 40 000 Customers Worldwide By Newsyn	se 2021, Delivering
High Tech, Low Drama to 40,000 Customers Worldwide PR Newswi	re
Feb-12-21 10:24AM Micro Focus - Substantial Progress but Still a Long Way to Go Gur	

Micro Focus International plc engages in the enterprise software business in the United Kingdom, the United States, Germany, Canada, France, Japan, and internationally. The company offers infrastructure software products that are managed on a portfolio. Its product portfolio includes application modernization and connectivity, application delivery management, IT operations management, security and information management, and governance. Micro Focus International plc was founded in 1976 and is headquartered in Newbury, the United Kingdom.



Anr-05-21 11:16AM	High Income Securities Fund Announces Monthly Distributions For Second Quarter of 2021 Business Wire
/tp: 03 21 11:10/(1)	2021 Business Wire
Feb-02-21 09:39AM	High Income Securities Fund Announces Completion of Rights Offering Business Wire
Jan-25-21 10:30AM	High Income Securities Fund Extends Non-Transferable Rights Offering Business Wire
Jan-05-21 02:39PM	High Income Securities Fund Announces Monthly Distributions For First Quarter of
Jan-03-21 02.39FM	2021 Business Wire
Dec-08-20 05:33PM	High Income Securities Fund Announces Non-Transferable Rights Offering Business Wire
Con 17 20 01 E6DM	High Income Securities Fund Announces Monthly Distributions For Fourth Quarter of
3ep-17-20 01.36PM	2020 Business Wire
Jul 02 20 11.40AM	High Income Securities Fund Announces Monthly Distributions For Third Quarter of
Jul-02-20 11:40AM	2020 Business Wire

Mar-30-20 02:52PM High Income Securities Fund Announces Monthly Distributions For Second Quarter of 2020 Business Wire

Jan-02-20 04:06PM High Income Securities Fund Announces Monthly Distributions For First Quarter of 2020 Business Wire

Dec-16-19 09:00AM High Income Securities Fund Announces Increase in Monthly Distributions Business Wire

High Income Securities Fund is a closed-ended balanced income mutual fund launched and managed by Putnam Investment Management, LLC. The fund is co-managed by Putnam Investments Limited. It invests in the fixed income markets of the United States. The fund seeks to invest in stocks of companies operating across diversified sectors. It invests in both convertible bonds and convertible preferred stocks. The fund benchmarks the performance of its portfolio against a composite index comprising of 50% JPMorgan Developed High Yield Index and 50% BofA Merrill Lynch AllConvertibles Speculative Quality Index. The fund was formerly known as Putnam High Income Securities Fund High Income Securities Fund was formed on July 9, 1987 and is domiciled in the United States.

Insider Trading	Relationship	Date	Transaction	Cost	#Shares	Value (\$)	#Shares Total	SEC Form 4
SELL MORITZ A	Director	Feb 02	Option Exercise	8.24	3,560	29,334	4,120 F	Feb 04 04:32 PM
Dakos Andrew	Director	Feb 02	Option Exercise	8.24	39,000	321,360	51,745 F	Feb 04 04:36 PM
HELLERMAN GERALD	Director	Feb 02	Option Exercise	8.24	11,183	92,148	19,234 F	Feb 04 04:40 PM
GOLDSTEIN PHILLIP	Director	Feb 02	Option Exercise	8.24	163,703	1,348,913	163,706 F	Feb 04 04:54 PM
Dakos Andrew	Director	Jan 21	Sale	8.59	9,355	80,359	12,745	Jan 22 04:34 PM



Insider	2.00	Inst	54.00
Own	%	Own	%
Insider Trans	- 0.12 %	Inst Trans	0.46 %
Short	2.55	Earning	Apr
Float	%	s	28/a
Analyst Recom	3.20	Target Price	8.11
Avg	5.74	52W	3.37 -
Volume	M	Range	9.69

Apr-14-21 04:15PM	Antero Midstream Announces First Quarter 2021 Return of Capital and Earnings Release Date and Conference Call PR Newswire
Apr-14-21 08:14AM	These 3 Energy Stocks Pay Outrageously High Dividends Motley Fool
Apr-13-21 12:16PM	Antero Resources' Co-founder Glen Warren Announces Retirement Zacks
Apr-08-21 05:57PM	Antero Resources and Antero Midstream Announce New Executive Management Responsibilities PR Newswire
Apr-08-21 05:52PM	Antero Resources and Antero Midstream Announce Retirement of Co-Founder Glen Warren PR Newswire
Mar-24-21 12:17PM	Top Energy Stocks for April 2021 Investopedia
Mar-11-21 11:49PM	An Intrinsic Calculation For Antero Midstream Corporation (NYSE:AM) Suggests It's 27% Undervalued Simply Wall St.
Feb-18-21 07:30PM	Is Antero Midstream Corporation (AM) a Smart Long-Term Buy? Insider Monkey Antero Midstream Partners LP (AM) Q4 2020 Earnings Call Transcript Motley Fool Antero Midstream Corp. to Host Earnings Call ACCESSWIRE

Antero Midstream Corporation owns, operates, and develops midstream energy infrastructure. It operates through two segments, Gathering and Processing, and Water Handling. The Gathering and Processing segment includes a network of gathering pipelines and compressor stations that collects and processes production from Antero Resources' wells in West Virginia and Ohio. The Water Handling segment delivers fresh water; and offers other fluid handling services, such as wastewater transportation, disposal, and treatment, as well as high rate transfer services. The company was incorporated in 2013 and is headquartered in Denver, Colorado.

Insider Tradin g	Relationship	Dat e	Transactio n	Cos t	#Shares	Value (\$)	#Shares Total	SEC Form 4
Pearce Sheri	See Remarks	Nov 24	Sale	7.27	1,326	9,636	43,749	Nov 25 06:10 AM
KLIMLE Y BROOK S J	Director	Nov 12	Sale	6.22	9,788	60,920	41,932	Nov 12 08:52 PM
RADY PAUL M	Chief Executive Officer	Sep 14	Sale	5.40	8,600,000	46,440,00 0	1,442,01 7	Sep 15 06:01 AM
RADY PAUL M	Chief Executive Officer	May 05	Sale	4.10	18,000,00 0	73,800,00 0	1,180,82 1	May 05 08:56 PM
Warren Glen C Jr	President and Secretary	May 05	Sale	4.10	10,000,00	41,000,00 0	6,886,72	May 05 08:56 PM



Apr-01-21 04:00PM	Oxford Lane Capital Corp. Announces an Update to the De-Listing Date for the 7.50%						
Apr-01-21 04.00FM	Series 2023 Term Preferred Stock GlobeNewswire						
	Oxford Lane Capital Corp. Announces Full Exercise of Underwriters Over-Allotment						
Mar-23-21 04:00PM	Option on its 6.75% Notes Due 2031, Bringing Total Size of Offering to \$100						
	million GlobeNewswire						
Mar-16-21 04:01PM	Oxford Lane Capital Corp. Announces Redemption of 7.50% Series 2023 Term						
Mar-10-21 04:01PM	Preferred Stock GlobeNewswire						
	Oxford Lane Capital Corp. Prices Public Offering of \$87.0 Million 6.75% Notes Due						
Mar-09-21 05:57PM	2031 and Announces BBB Investment Grade Rating of the Notes by Egan-Jones						
	Ratings Company GlobeNewswire						
Mar-09-21 08:26AM	Oxford Lane Capital Corp. Announces Offering of Notes and BBB Investment Grade						
	Rating of the Notes by Egan-Jones Ratings Company GlobeNewswire						
	Oxford Lane Capital Corp. Provides February Net Asset Value Update GlobeNewswire						
Feb-04-21 08:00AM	Oxford Lane Capital Corp. Provides January Net Asset Value Update GlobeNewswire						

E   04 24 00 00 AM	Oxford Lane Capital Corp. Announces Net Asset Value and Selected Financial Results
Feb-01-21 08:00AM	for the Third Fiscal Quarter and Declaration of Distributions on Common Stock for the
	Months Ending April 30, May 31, and June 30, 2021 GlobeNewswire
lan 2F 21 11.06 AM	Oxford Lane Capital Corp. Schedules Third Fiscal Quarter Earnings Release and
Jan-25-21 11.00AM	Oxford Lane Capital Corp. Schedules Third Fiscal Quarter Earnings Release and Conference Call for February 1, 2021 GlobeNewswire
Doc-03-30 08:004M	Oxford Lane Capital Corp. Provides November 2020 Net Asset Value
Dec-03-20 06.00AM	Oxford Lane Capital Corp. Provides November 2020 Net Asset Value Update GlobeNewswire

Oxford Lane Capital Corp. is a close ended fund launched and managed by Oxford Lane Management LLC. It invests in fixed income securities. The fund primarily invests in securitization vehicles which in turn invest in senior secured loans made to companies whose debt is rated below investment grade or is unrated. Oxford Lane Capital Corp was formed on June 9, 2010 and is domiciled in the United States.

Insider Trading	Relationship	Date Tra	nsaction	Cost	#Shares	Value (\$)	#Shares Total	SEC Form 4
Eagle Point Credit Management	10% Owner	Apr 19	Sale	25.15	300,400	7,555,060	21,250,800	Apr 19 09:20 PM
Eagle Point Credit Management	10% Owner	Apr 16	Sale	25.12	1,147,500	28,825,200	21,551,200	Apr 19 09:20 PM
Eagle Point Credit Management	10% Owner	Apr 15	Sale	25.25	743,800	18,780,950	22,698,700	Apr 19 09:20 PM
Eagle Point Credit Management	10% Owner	Apr 12	Sale	25.31	175,000	4,429,250	23,442,500	Apr 13 05:17 PM
Eagle Point Credit Management	10% Owner	Apr 09	Sale	25.31	168,375	4,261,571	23,617,500	Apr 13 05:17 PM

